AOW Truck & Trailer Repa
ALIGNMENT ON WHEELS,

ATFETEVEIT T T

INVOICE

420 - 26th St. NE Invoice Number: 42511
Auburn, WA 98002 Invoice Date: Feb 28, 2022
USA & JTRAILER}
Voice: (253)804-3131 IR DOTEA07A106;1
Fax: (253)804-3399
Bill To: Unit #, VIN, Plate # and Odometer
T-1
141264
C98798T 388,857
Customer ID Customer PO Payment Terms
- AAACONINC C.O.D.
Sales Rep ID Shipping Method Ship Date Due Date
UPS Ground 2/28/22
Quantity Item Description Unit Price Amount
1.00 | ANNVEHINS Annual Vehicle Inspection Tractor 70.00 70.00
1.00 | SALIGN5-5 5 AXLE ALIGNMENT 419.99 419.99
6.00 | SLABOR REPLACE STEER KING PINS AND TIE 119.50 717.00
ROD ENDS
1.00 | 308-305 KING PIN KIT 309.99 309.99
1.00 | 310-433 Tie Rod End 44.95 44.95
1.00 | 310-434 Tie Rod End 44.95 44.95
2.00 | 35058 Wheel Seal 42.99 85.98
2.00 | 330-3024 Hub Cap Gasket 3.99 7.98
3.00 | 0345071 1/8" X 2" COTTER KEY 0.24 0.72
2.00 | SYN75/90 Pt. of Synthetic 75/90 Gear Lube 5.49 10.98
1.00 | AXLSLE Axle Sleeving - RIGHT SIDE 336.60 336.60
1.00 | SL1872T Axle Sleeve 30.00 30.00
7.50 | SLABOR REPLACE SHACKLE PINS - EXTRA TIME 119.50 896.25
TO REPLACE LEFT SIDE CENTER PIN
B AND 1 SPRING CLAMP
6.00 | TB81 SPRING EYE BUSHING 24.49 146.94
6.00 | 327-540 SHACKLE PIN THREADED KW/PB 15.95 95.70
4.00 | 8T3426 3/4 X 26 UBOLT ROD 16.95 67.80
8.00 | DN-34 3/4 DEEP NUT 1.99 15.92
8.00 | SUW-34K 3/4 UBOLT WASHER 0.99 7.92
Subtotal Continued
Sales Tax Continued
Total Invoice Amount Continued
Payment/Credit Applied 5,000.00
TOTAL Continued

Check/Credit Memo No: ADJ

Please note: The customer assumed responsibility to do periodic maintenance (tightening of bolts, u-bolts, greasing, etc.) and obey vehicle operating
specification. For continued safe operation, u-bolts should be retorqued 300 miles after repairs. We will not be held liable for any damage done if they are
not retorqued within that time frame. Any vehicle left on our premises is subject to a $25 per day parking fee.



AOW Truck & Trailer Repa
ALIGNMENT ON WHEELS,

ATFETEVEIT T T

INVOICE

420 - 26th St. NE Invoice Number: 42511
Auburn, WA 98002 Invoice Date: Feb 28, 2022
USA & JTRAILER}
Voice: (253)804-3131 IR DOTEA07A106;1
Fax: (253)804-3399
Bill To: Unit #, VIN, Plate # and Odometer
T-1
141264
C98798T 388,857
Customer ID Customer PO Payment Terms
- AAACONINC C.O.D.
Sales Rep ID Shipping Method Ship Date Due Date
UPS Ground 2/28/22
Quantity Item Description Unit Price Amount
6.00 | 652601 1/8" SHORT 45° ZERK 1.99 11.94
1.00 | TM-LCM3 X8 SPRING REPAIR CLIP 21.45 21.45
1.00 | CB-1560 1/2" X 6" CENTER BOLT W/NUT 2.99 2.99
8.00 | 0672021 1/2" Flange Nut 0.99 7.92
8.00 | 0702051 1/2" Flat Washer 0.27 2.16
8.00 | 0100111 1/2" x 3" Cap Screw 1.50 12.00
4.00 | 0138061 5/8"-11X 2 1/2" FLANGE GR8 BOLT 2.73 10.92
2.00 | 0138081 5/8" X 3" FLANGE CAP SCREW 3.18 6.36
6.00 | 0672031 5/8" - 11 FLANGE NUT 1.86 11.16
6.00 | SLABOR CHALMERS REBUSH 119.50 717.00
16.00 | 321-273 CHALMERS BUSHING SMALL 19.99 319.84
16.00| 0110151 5/8" X 5 1/2" CAP SCREW 4.53 72.48
16.00 | 0702071 5/8" Flat Washer 0.42 6.72
16.00 | 0672031 5/8"- 11 FLANGE NUT 1.86 29.76
1.00 | 216250CS1 TORQUE ROD 513.38 513.38
B 6.50 | SLABOR REPLACE RIGHT FRONT LOWER SPIGOT 119.50 776.75
1.00 | 800530CS1 CHALMERS BRAKET LR/RF 291.49 291.49
4.00 | SLABOR WELD IN WEAR PADS 119.50 478.00
4.00 | 334-945 CHALMERS WEAR PLATE 19.99 79.96
3.00 | SLABOR REPLACE AXLE SEATS - REAR AXLE 119.50 358.50
ONLY
Subtotal Continued
Sales Tax Continued
Total Invoice Amount Continued
Payment/Credit Applied 5,000.00
TOTAL Continued

Check/Credit Memo No: ADJ

Please note: The customer assumed responsibility to do periodic maintenance (tightening of bolts, u-bolts, greasing, etc.) and obey vehicle operating
specification. For continued safe operation, u-bolts should be retorqued 300 miles after repairs. We will not be held liable for any damage done if they are
not retorqued within that time frame. Any vehicle left on our premises is subject to a $25 per day parking fee.



AOW Truck & Trailer Repa
ALIGNMENT ON WHEELS,

ATFETEVEIT T T

INVOICE

420 - 26th St. NE Invoice Number: 42511
Auburn, WA 98002 Invoice Date: Feb 28, 2022
USA & JTRAILER}
Voice: (253)804-3131 IR DOTEA07A106;1
Fax: (253)804-3399
Bill To: Unit #, VIN, Plate # and Odometer
T-1
141264
C98798T 388,857
Customer ID Customer PO Payment Terms
- AAACONINC C.O.D.
Sales Rep ID Shipping Method Ship Date Due Date
UPS Ground 2/28/22
Quantity Item Description Unit Price Amount
2.00 | 338-1404 CHALMERS AXLE/BEAM SADDLE 99.99 199.98
4.00 | 0090071 3/8" x 1-1/2" Hex Capscrew 0.42 1.68
4.00 | 0671031 3/8 LOCK NUT 0.18 0.72
8.00 | 0702031 3/8" Flat Washer 0.15 1.20
3.00 | SLABOR REPLACE STEER AND DRIVE BRAKES 119.50 358.50
AND DRUMS
2.00 | SB21CV4719E2 21K 4719 BRAKE SHOE KIT 75.00 150.00
2.00 | DB1655B BRAKE DRUM 225.99 451.98
4.00 | SB23E4709E2 23K 4709 NEW BRAKE SHOE KIT 95.00 380.00
4.00 | OTR1601B BRAKE DRUM 149.99 599.96
2.50 | SLABOR CHANGE 2 MISS-MATCHED DRIVE 119.50 298.75
BRAKE CHAMBERS TO 3030 AND
REPLACE LEFT REAR BROKEN CAN
2.00 | OTR3030PBK 3030 PIGGY BACK 49.99 99.98
1.00 | OTR3030SB 3030 BRAKE CAN ASSY 64.99 64.99
B 1.50 | SLABOR REPLACE #5 U-JOINT 119.50 179.25
1.00 | N5-0280 1710 U-JOINT 52.99 52.99
0.75 | SLABOR REPLACE U-JOINTS #2 & #3 STRAP KITS 119.50 89.63
2.00 | 6.5-70-18X Strap & Bolt Kit 12.95 25.90
0.50 | SLABOR REPLACE DRAG LINK 119.50 59.75
1.00 | L24VUB432B11 DRAG LINK 375.99 375.99
Subtotal Continued
Sales Tax Continued
Total Invoice Amount Continued
Payment/Credit Applied 5,000.00
TOTAL Continued

Check/Credit Memo No: ADJ

Please note: The customer assumed responsibility to do periodic maintenance (tightening of bolts, u-bolts, greasing, etc.) and obey vehicle operating
specification. For continued safe operation, u-bolts should be retorqued 300 miles after repairs. We will not be held liable for any damage done if they are
not retorqued within that time frame. Any vehicle left on our premises is subject to a $25 per day parking fee.



AOW Truck & Trailer Repa
ALIGNMENT ON WHEELS,

ATFETEVEIT T T

INVOICE

420 - 26th St. NE Invoice Number: 42511
Auburn, WA 98002 Invoice Date: Feb 28, 2022
USA & JTRAILER}
Voice: (253)804-3131 IR DOTEA07A106;1
Fax: (253)804-3399
Bill To: Unit #, VIN, Plate # and Odometer
T-1
141264
C98798T 388,857
Customer ID Customer PO Payment Terms
- AAACONINC C.O.D.
Sales Rep ID Shipping Method Ship Date Due Date
UPS Ground 2/28/22
Quantity Item Description Unit Price Amount
6.00 | SLABOR REPLACE FRONT DROP KING PINS 119.50 717.00
1.00 | 308-232 KING PIN KIT 276.50 276.50
2.00 | 35058 Wheel Seal 42.99 85.98
2.00 | 330-3024 Hub Cap Gasket 3.99 7.98
2.00 | 0345071 1/8" X 2" COTTER KEY 0.24 0.48
2.00 | SYN75/90 Pt. of Synthetic 75/90 Gear Lube 5.49 10.98
6.00 | SLABOR REPLACE REAR DROP KING PINS 119.50 717.00
1.00 | 308-284 KING PIN KIT 276.50 276.50
2.00 | 35058 Wheel Seal 42.99 85.98
2.00 | 330-3024 Hub Cap Gasket 3.99 7.98
2.00 | 0345071 1/8" X 2" COTTER KEY 0.24 0.48
2.00 | SYN75/90 Pt. of Synthetic 75/90 Gear Lube 5.49 10.98
2.00 | AXLSLE Axle Sleeving - BOTH SIDES 336.60 673.20
2.00 | SL1793T Axle Sleeve 30.00 60.00
1.00 | SLABOR REBUSH FRONT DROP RIGHT UPPER 119.50 119.50
B ARM
2.00|321-175 TORQUE ROD BUSHING 1" 5.30 10.60
2.00 WATSON BUSHING REDUCER SLEEVES
1" TO 7/8" - NO CHARGE
2.00 | 334-373 7/8" FLANGE TR NUT 5.95 11.90
1.00 | 334-1026 TORQUE ROD NUT/BOLT 7/8" 6.95 6.95
Subtotal Continued
Sales Tax Continued
Total Invoice Amount Continued
Payment/Credit Applied 5,000.00
TOTAL Continued

Check/Credit Memo No: ADJ

Please note: The customer assumed responsibility to do periodic maintenance (tightening of bolts, u-bolts, greasing, etc.) and obey vehicle operating
specification. For continued safe operation, u-bolts should be retorqued 300 miles after repairs. We will not be held liable for any damage done if they are
not retorqued within that time frame. Any vehicle left on our premises is subject to a $25 per day parking fee.



AOW Truck & Trailer Repa
ALIGNMENT ON WHEELS,

ATFETEVEIT T T

INVOICE

420 - 26th St. NE Invoice Number: 42511
Auburn, WA 98002 Invoice Date: Feb 28, 2022
USA & JTRAILER}
Voice: (253)804-3131 IR DOTEA07A106;1
Fax: (253)804-3399
Bill To: Unit #, VIN, Plate # and Odometer
T-1
141264
C98798T 388,857
Customer ID Customer PO Payment Terms
AAACONINC C.O.D.
Sales Rep ID Shipping Method Ship Date Due Date
UPS Ground 2/28/22
Quantity Item Description Unit Price Amount
2.00|373914 7/8" Flat Washer 1.40 2.80
1.50 | SLABOR REPLACE OR REPAIR RUBBING AIR 119.50 179.25
LINES AT BOTH DIFFS AND RIGHT
FRONT DROP
1.00 | RH16332 1/2" X 32" AIR BRAKE HOSE 9.99 9.99
1.00 | RH16620 3/8" X 20" AIR BRAKE HOSE 8.49 8.49
6.00 | HDV-NT2606BLK50 3/8" NYLON BLACK TUBING PER FT 0.49 2.94
2.00 | NP68-6-6 PUSH LOCK FITTING 2.85 5.70
1.00 | BP122-8 BRASS 1/2" NIPPLE 2.27 2.27
6.00 | ELABOR REPLACE TURBO 135.50 813.00
1.00 | 10R8733 TURBO ASSY 2,339.38 2,339.38
1.00 | CORCHAR Core Charge - CORE CHARGE CREDIT 836.35 836.35
WAS REFUSED BECAUSE OF THE
MASSIVE CRACK THROUGHOUT THE
HOUSING
1.00 | 2235664 EXPANSION JOINT - FOUND CRACKED 297.05 297.05
WHEN REMOVING THE TURBO
2.00|2412634 V-BAND CLAMP 18.44 36.88
1.00 | 2894135 GASKET 21.47 21.47
1.00 1978418 GASKET 4.05 4.05
Subtotal Continued
Sales Tax Continued
Total Invoice Amount Continued
Payment/Credit Applied 5,000.00
TOTAL Continued

Check/Credit Memo No: ADJ

Please note: The customer assumed responsibility to do periodic maintenance (tightening of bolts, u-bolts, greasing, etc.) and obey vehicle operating
specification. For continued safe operation, u-bolts should be retorqued 300 miles after repairs. We will not be held liable for any damage done if they are
not retorqued within that time frame. Any vehicle left on our premises is subject to a $25 per day parking fee.



AOW Truck & Trailer Repa
ALIGNMENT ON WHEELS,

420 - 26th St. NE

ATFETEVEIT T T

INVOICE

Invoice Number: 42511

Auburn, WA 98002 Invoice Date: Feb 28, 2022
USA & JTRAILER}
Voice: (253)804-3131 IR DOTEA07A106;1
Fax: (253)804-3399
Bill To: Unit #, VIN, Plate # and Odometer
T-1
141264
C98798T 388,857
Customer ID Customer PO Payment Terms
- AAACONINC C.O.D.
Sales Rep ID Shipping Method Ship Date Due Date
UPS Ground 2/28/22
Quantity Item Description Unit Price Amount
1.00 1978419 GASKET 4.05 4.05
4.00 | 2459750 TURBO STUD 25.61 102.44
4.00 | 9X6620 TURBO NUT 6.67 26.68
2.00 | SLABOR REPLACE MV-3 VALVE 119.50 239.00
1.00 | 800260BXW Valve 336.49 336.49
3.00 | 146PK 5/16" FENDER WASHER 0.14 0.42
3.00 | 373603 #10 SAE Flat Washer 0.10 0.30
7.00 | SLABOR REPLACE BOX CYLINDER 119.50 836.50
1.00 | MH100-64-156P CYLINDER ASSY 2,200.00 2,200.00
2.50 | SLABOR DIAG/FIX ALL INOP LIGHTS 119.50 298.75
5.00 | 633411 Zip Tie 0.05 0.25
5.00 | 633413 7.5"ZIPTIE 0.18 0.90
2.00 | HSC-YELLOW HEAT SHRINK CONN. YELLOW 0.59 1.18
2.00 | HSC-BLUE HEAT SHRINK CONN. BLUE 0.59 1.18
1.00 | 26330 LICENSE PLATE LAMP 4.95 4.95
B 3.00 | SLABOR REPAIR HYDRAULIC TANK BRACKETS 119.50 358.50
2.00 | 0672031 5/8"- 11 FLANGE NUT 1.86 3.72
2.00 | 0138061 5/8"-11X 2 1/2" FLANGE GR8 BOLT 2.73 5.46
1.00 | MISC 18" X 1/4" X 1 1/2" METAL PLATE 10.00 10.00
6.00 | SLABOR REPLACE DRIVE S-CAMS 119.50 717.00
2.00 |E1775 S-CAM RH 53.99 107.98
Subtotal Continued
Sales Tax Continued
Total Invoice Amount Continued
Payment/Credit Applied 5,000.00
TOTAL Continued

Check/Credit Memo No: ADJ

Please note: The customer assumed responsibility to do periodic maintenance (tightening of bolts, u-bolts, greasing, etc.) and obey vehicle operating
specification. For continued safe operation, u-bolts should be retorqued 300 miles after repairs. We will not be held liable for any damage done if they are
not retorqued within that time frame. Any vehicle left on our premises is subject to a $25 per day parking fee.



AOW Truck & Trailer Repa
ALIGNMENT ON WHEELS,

AELALIT D SIS

INVOICE

420 - 26th St. NE Invoice Number: 42511
Auburn, WA 98002 Invoice Date: Feb 28, 2022
USA & JTRAILER}
Voice: (253)804-3131 IR DOTEA07A106;1
Fax: (253)804-3399
Bill To: Unit #, VIN, Plate # and Odometer
T-1
141264
C98798T 388,857
Customer ID Customer PO Payment Terms
- AAACONINC C.O.D.
Sales Rep ID Shipping Method Ship Date Due Date
UPS Ground 2/28/22
Quantity Item Description Unit Price Amount
2.00 |E1776 S-CAM LH 53.99 107.98
4.00 | E-5482 WASHER 8.39 33.56
8.00 | 02-304 S-CAM SEAL 1.41 11.28
8.00 | 02-202 NYLON BUSHING 1.23 9.84
4.00 | 334-1584 SHIM 1.99 7.96
0.50 | SLABOR DIAG/FIX ABS LIGHT - CONNECTED 119.50 59.75
COMPUTER AND FOUND CODE FOR RS
STEER SENSOR. CLEANED TONE RINGS
DURING KING PINS AND CLEARED
CODE.
3.25 | SLABOR REPAIR ROOF/HEADLINER - REPLACE 119.50 388.38
CB ANTENNA GROMMETS, RESEALED
ANTENNAS AND HORN AND ALLOWED
TO CURE INSIDE OVERNIGHT.
2.00 | K264-91-160406S RUBBER GROMMET 15.96 31.92
B 1.00 | SCR Solvent Chemical Recycle/Shop Supplies 239.77 239.77
Subtotal 24,217.50
Sales Tax 2,421.75
Total Invoice Amount 26,639.25
Payment/Credit Applied 5,000.00
TOTAL 21,639.25

Check/Credit Memo No: ADJ

Please note: The customer assumed responsibility to do periodic maintenance (tightening of bolts, u-bolts, greasing, etc.) and obey vehicle operating
specification. For continued safe operation, u-bolts should be retorqued 300 miles after repairs. We will not be held liable for any damage done if they are
not retorqued within that time frame. Any vehicle left on our premises is subject to a $25 per day parking fee.



